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In groups of 4, complete the following tasks.
Task 1:

Newmarket has two competing car rental companies.

 Foracompact car, Aurora High’s Wrecks charges a daily rate of $30 plus 25¢ per km driven.
e For the same size of car, G.W.William’s Motors simply charges 40¢ per km driven.

1. Write an equation for the fees charged by each car rental company. Define the variables (provide

‘let’ statements)

Let x represent cost {Oe_f b

Let y represent 'tO'tQ{ rental cost

Aurora High’s Wrecks: @ y= 0.15_)( <+ 30

G.W. William’s Motors:@ y= o040 X

Tota! (ost
A

2. Sketch a graph to model the scenario
& label the equations.
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3. Solve the linear system algebraically.

sao (D Me(d  -01K -0.25x
025x +20 = Oyo0x
Q_Q_ = 015 x
0\5 019

4. What does the point of intersection represent in this scenario?
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> 337 He dotal cost is $g0. (BReAL-EVER)
< ‘ 5. What does the graph indicate about which company you should rent from?
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Task 2:

Wylie’s Sporting Goods sells footballs and soccer balls. Mr. Peres bought 3 footballs and 4 soccer

balls and spent $126. Mr. Bulut bought 5 footballs and 2 soccer balls and spent $140. How much do
footballs and soccer balls cost?

1. Write an equation for Mr. Peres’ and Mr. Bulut’s purchases. Define the variables (provide ‘let’
statements)

Let frepresent _4he cost pe~ one football
Let s represent _—+the cost pe— one Soccl— g l|

Mr. Peres: 0] b= 3% +Us Mr. Bulut:@ w0 =5F +2s "y
L4 ’4,
2. Solve your system of equations above in order to determine how much the balls cost. ~ % /3/7 é'
l’tc.-f-l..on | -hl-“l e/';), ) ) 2
26 < 3F +4s = 124 =3F +4s %o
I=] 280 <lof +Us 26 <3(22) +4s ' Football $27 -
-5y = *f 6o =45
= = T Jowces $15”
Sc 1y

Task 3:

When Billy Bob rented a car for 4 days and drove 200 km, the charge was $136. When he rented the
same car for 7 days and drove 600 km the charge was $288. What were the charge per day and the

charge per km?

1. Write an equation for each of Billy Bob’s cases. Define the variables (provide ‘let’ statements)
Let d represent Chor3( eec dqj

w Let k represent chanae_ e boy

Case#l: |26= LA :|—- zoog %M{ E:;f'lr t" %‘ase #: IR - Id 4+ 600k

2. Solve your system of equations above in order to determl_pe each charge.

P«-/ 40§ - (2d + 620k ,\J/n

=] 2979 = #4 + 600k

C@m(u sion

126 = 4d + 200 L
1% - L|(2L|) + 10&_ Chau:j%lrc:7 = P2y

20 = 54 -q

i 5 (36 = 96+ 200?- cmjy =$a2
o - 200k o
100 200 9_04:
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Task 4:

James looks in his TV cabinet and finds some old Beta and VHS tapes. He has 17 tapes in all. He
finds that he has 3 more Beta tapes than VHS tapes. How many of each type does he have?

1. Write an equation for each set of given information. Define the variables (provide ‘let’

statements)

Let b represent the vwumbe~ of Beta ','Q{oe_j

Q\ﬁ@ Letv represent _+he pumbe~  of  \/HS 'fagcs
#: b+v =1F #2: b=v+2

2. Solve your system of equations above in order to determine how many of each he has.

Conveus ion)

Ry,

Task 5:

. Jamu hQJ 3 %Z"’G Qnd

HS +ar:u :

The sum of two numbers is 7. Three times one of the numbers is 15 more than the other number.

Find the numbers.

1. Write an equation for each set of given information. Define the variables (provide ‘let’

statements)

Let m represent_+he +First aumbe—

‘Q\} Let n represent _+he second numbe—
#: M4+ N =1 2. 3N = N +|9

2. Solve your system of equations above in order to determine each number.

"
f\(*l m+n =T

—
—_—

_ 9 -5
.5 +n = 7*

(n=£'>_7

Converusion
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Task 6:
Rehman invests his summer earnings of $3050. He invests part of the money at 8%/year and the rest
at 7.5%/year. After 1 year, these investments earn $242 in interest. How much did he invest at each
rate?

P

—_—

AU2 =00%¢c+ 00%5s

Lete represent _t+he. amount b money lavestdd @ g '/-:’/yeo.f—

Let s represent the e:?ma'c.in-f- ot Money ‘nvested @ 357 /9ea-
rel °

#1: %590 =€ +5 fﬂﬁ'\i;'o?o?#z: 242 = O08e 4+ Ooz5 s

-'0 ll'.
244 = 008e + 0,095 s

ActionZ 050 - + S

-yoo —

yoo

—

2= w
0005 0.005

L%?’O :P_/

- Rehman ‘nvested $£¢00 @ ?:':T‘//je,, and #2450 @g%/jeo/.

Task 7:

One type of granola has 30% nuts, by mass. A second type of granola has 15% nuts. What mass of each
type needs to be mixed to make 600 g of granola that will have 21% nuts?

S

Toto |

d
\p\

P\%

Let x represent 1he  @ouynt— ot Y0y nut TYPE
Lety represent T ke Aoy n+ s 197 nd TTYpE
#1: X +:}4 — boo/ Mt 4. 0.29% + O‘I‘Tj - 9.2] [(«;oo)

1ont
015% +Olsy= 0 K7™ xry=690
0.30x+0,l5j-_(% aq0+d = 6o
"'_i(_)\l"ix:_ -%6

=600-242

-0y -0.9

0{: sfanola

(’?QL; 9-‘-{06 O‘F SOA nut ‘tjfc ﬂc&b to bc m;)(fd w\'-“,, Sbo(j’ °7{
197 wst fype of 3mnola.



Task 8:

Ken has $3.80 in nickels and dimes. If there are 50 coins altogether, how many dimes are there?
A het "d" ke Hre numbe~ of dimes
:P\ ot nuw be— QF ﬂl‘ch
det “a'l ke fe

(s
@ 0lod + 005n - 3.89 do eliminate

w 0054 + 0.05n = 450
[=1 olod 4+ 005n 3¢90

3

-0v5d = - 070
~00v -00o5
d =1y
ol

w,auﬁs There are.  |U imes.
Task9:

Mariam canoed 2 km downstream to her friend’s cottage, and it took her one hour. The retum (upstream)
trip took' 0 minutes. Find the paddling rate and the speed of the current.

het “P" be He Pﬁdc“.‘ﬁ) rate rI)ES-]-an_, SF-e.eJ Time
':\\?/ det v be tHe Curent Dowor 2 P4c 4
120w A
ue L | p-< | 2 -
O A= Pre =P Malkiply sy 2.
® 2= NP 2=2p- e %o el.'fm.'natt-‘-
A
hE=
K/ 2-2¢p-2c P .

G
\ 1S Py
520

Ufb&  The I::aoufﬂ] vate 18 |5 km/h
and Ale speed of the cucast s 0.5 b)),



